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Section A, B and C are compulsory for all Regular and Private students. Please

follow the instructions, given in each section. Marks distribution for

all students

are as shown in question paper. The blind candidates will be given 60 minutes

extra time.

|auE A Eﬂgﬁl‘%’ Section A : Objective

Regular 5x1=5 / Private 5x1=5

1. aegalt @ Fwe Prafoor sfe swemmer # dE -

(%) Rydgemg (@) wFK (/) &= (=) 799 & %7% TE |
Product pricing is the ..o ..of Micro Economics :
{a) Characteristics (b} Type (c) Scope (d) None of these.

2. '{(ﬂmﬂﬁz
() D=F) Y = IudrEET # 3T

(8) D=7 (P) P=asg &1 #d
The formula of price demand is :
(a) D=f(Y) Y= Income of Consumer

(¢) D=f(P) P= Price of Article

(a) D‘h":f{Px} Px:xﬂ'ﬁiﬁ:ﬁw
(a] Dx'_'f(Px. Pnf:T] T = ITHTFT &7 iy |

(b) Dy = f(Py) Py=X Price of X Article
(d) Dy =f Py, Py, T) T = Interest of Consumer.

3. 'Wﬁﬁﬂ?'ﬂﬁﬂﬂﬁiﬂwﬁ?ﬂﬂ%; _
(=) mreier (a) féra (<) e (z) tr |
Who propounded the concepl of ‘Elasticity of Demar}d :
(a) Marshall (b) Smith (¢) Hicks (d) Semuelson.
4. Sz ¥ afg ¥ amg siww @
(a1) Ty & (x) R A # (1) Preei # (@) T & e 78 |
With the increase in production, the averag® cost
(a) Increases (b) Constant {¢c) Decreases (d None of the abore
s 5. P & Regres @Y, oo Rrgr #f %@ e & - :
(a7) = 77 forgr (@) ameett &1 5 PR g
() e Frgre (z) 7orgl ﬁm )
The theory of distribution 18 also known as the theory of : .
(a) Justice (b) Factor pricing
(¢c) Cost (d) Wages.

g W @Y Iwiiq Section B : Short Answer

1. mfe of wwfe sedrer § ST Tk |
Write the difference between Macro

T Ear R ST ¥ SR e A |
Write the difference between Inductive

Regular 5x3=15 / Private fyg 15

Fcon0mics and Micro Economics.

argar OR

and Deductive methed.

P. T Q.



2

2, ﬁ:ﬁ\mﬁmﬁmmmﬁm%ﬁﬁm r
Describe the main factors affected to demand of
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any commadity.

J74T OR
BT 25 T A% 1 3 72 g
Why does the Demand Cuyve

3. W A S A e T |
Explain the utility of Elasticity of Demand. -
_ 3vEr OR )
mﬁ&mmmﬁﬁmﬁmqwmﬁ%?mﬁmmﬁﬁmmﬁmﬁmmé?
What are the Internal Economies ? How can get the Internal Economies ?

4, m%m%m&gﬁ#ﬁﬂwml

Explain the characteristics of land as a factor of production,
Fgar OR

always slope downward to the right ?

IAEA B O 77 e AR | .
Discuss the importance of capital in production.
5. WRE ¥ AT 1 AF-7T ©Y gaifiry a2 7
Which form of Market is more popular in India ?
g4t OR
G SeuTEaT frgre o1 v ATy TEATEY |

Describe the five concept of Marginal Productivity
W ¥ : AY IO Section C : Long Answer
L. @i sedemer £ ofRaT St qar w Rt TRy |

Give the definition of Micro Economics and write its characteristics.
FHyat OR
STAYITER ¥ e ¥ AT G F 797 T &7 A JEE )

Explain the marits and demerits of Inductive Methed

Theory.

Regular 5x4=20 / Private 5x6=30

of aconomic study,
2. wit B el ¥ 7w & s wamee ) ttpr//www.davvonline.com
. What do you understand by Demand 7 State tg; types of demand.
i =67 e T & ? 3 Py 3w el 71 v fified | _ |
What is Law of Demand ? Explain the major exemption of this law.
3. | &1 dra # ooy ) mamﬁmﬁ_#gmmﬁﬁmm@ 1
" Define Elasticity of Demand. Discuss the main methog adapted 1o

measures the elasticity of
demand.

3ar OR

maﬂm%mﬂ'ﬂ‘f?ﬁmﬁ‘ﬂ " fara ST
T ﬁwaﬁﬁﬁlgfﬁ#. . i TE | '

Th oﬂi?:nf Law of Diminishing R‘Et“ms_’ 8 due scarej |
L e |

Ly of the factors
Discuss.

wr-a & w2F & B TGl Bt Pt w8 we
gofr ot aftrsT ﬂ’ﬁ:f‘;[h rlst.am‘e the factors on which accumulation of cq
Define Cﬂ.pltal- aEr OR

AT 0T S 7 WA ¥ T T B0 HAUT @I W HE a0y | 5 ._ .
What 1s C-ost of Production ? Which its types and explain the importance of Opportunity Cost?
5 Wﬂﬁﬁiﬁﬂﬂﬁ%?aﬂ?aﬁﬁﬁuﬂiﬁq‘l .
. What do vou mean by Market Structure ? Explamn its elements,
ne ) aprar OR
: - e
oo e 78 i et e e i e 3 Pt B

. . - . "
How price are determined under Perfect Competion 10 short-run and long-run

of Production "

. i
Pital depends ? Explain.
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